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1. The ratio equivalent of the fraction 3 =

(i) 7:6 (i) 7:1 (iii) 3:7 (iv) 6:3 (v) 7:3

61
2. The ratio equivalent of the fraction >3 =

(i) 60:23 (ii) 61:26 (iii) 61:23 (iv) 61:20 (v) 23:61
3. The fraction equivalent of the ratio4:6 =
(i) : (i) 1 (iii) ! (iv)
i) - ii iii iv) -
6 3 4
4. The fraction equivalent of the ratio58:28 =

(i) = (i) > (iii) 28 (iv) 2 (v) 29
7 28 58 13

5. The antecendent in the ratio13:8 =

(i) 13 (ii) 15 (iii) 6 (iv) 12 (v) 8
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6. The antecendent in the ratio ? :
(i) 10 (ii) > (iii) ! (iv) 10 (v) 4
i) — (i) = (i) = (iv Y,
3 6 6

7. The consequent in the ratio18:2 =

(i) 2 (ii) 5 (i) 1 (iv) 18 (v) 15

7
8. The consequent in the ratio ;-
18 19

(i) > (i) ° (iii) ° (iv) 2 (v) 7
18 17 19 19 18

9. The simplest form 0f420:150 =

(i) 14:2 (ii) 13:5 (iii) 420:152 (iv) 14:5 (v) 15:5

10. Find the missing value in the equation :1=12:6

(i) (-1) (i) 1 (i) 2 (iv) 4 (v) 3

11. Find the missing value in the equation10: =60:6
(i) 0 (i) 1 (ii) (-2) (iv) 3 (v) 2
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Find the missing value in the equation3:1=

10 (iii) 12 (iv) 8 (v) 9

(i) 6 (i)

13

Find the missing value in the equation30:5=18:

(i) 6 (ii) 0 (iii) 4 (iv)

3 (v) 2

Find the product of extremes of18:19 and4:12

(i) 214 (ii) 219 (iii) 215 (iv) 76

Find the product of extremes of -

323

(i) (i) 14 (ii
33

42

325 323
44

i)

19 1
41

(iv)

(v) 216

4 5
and :
5 11

(v)

Find the product of means of1:12 and12:15

(i) 141 (ii) 143 (iii)) 146 (iv) 144 (v) 15

Find the product of means of

7

(i) > (i) (iii)
68

66

27

15

2 (iv)
V) 68

‘- an
15 17

1 17
12° 3

(v) >
68

Find the mean proportional of98and?2

(i) 14 (i)

2 (iii) 196

(iv) 11 (v) 98

Find the third proportional of98and 14
2 (iv) 0 (v) 14

(i) 98 (i)

196 (iii)

Find the fourth proportional of18,3and18

(i) 5 (i)

18 (iii) O

(iv)

3

Which of the ratios is proportional to 32 : 8?

(i) 32:6

(i) 32:11

(iii)

33:8 (iv)

Divide 828 in the ratio 16 : 7

(i) 576,255 (ii) 575, 252 (iii)

Divide 9024 in the ratio 35: 12
2302 (ii) 6721, 2304 ({ii

(i) 6720,

Divide 3220 intheratio7 :20:1
(i) 804, 2300, 115

576, 249

17
11

321
44

31:8 (v) 32:8

(iv) 577,252 (v)

576, 252

i) 6720, 2304 (iv) 6719, 2304 (v) 6720, 2307

(ii) 805,2300, 115 (iii)

806, 2300, 115

(iv) 805,2302, 115 (v) 805, 2298, 115

A ratio is equal to 3 : 5. If its antecendent is 5082, what is its consequent?

(i) 8469

(ii) 8471

(iii)

8472 (iv)

8468 (v)

8470

A ratio is equal to 1 : 2. If its consequent is 7980, what is its antecendent?

(i) 3991

(ii) 3988

(iii)

3993 (iv)

3989 (v)

3990



27.

28.

29.

30.

31.

32.

33.

34.

Find the ratio between 3 months and 2 years 4 months

(i) 3:28 (ii) 2:28 (iii) 3:26 (iv) 3:30

2 3
Find the number which bears the same ratioto 4 that . does to

(i) 1 (i) = (iii) 17 (iv) L7
19 19 21

Find the ratio between 9 months and 8 years

(i) 3:35 (ii) 2:32 (iii) 3:30 (iv) 3:32

Find the ratio between 26 min and 59 hr

(i) 13:1770 (ii) 13:1772 (iii) 13:1767 (iv) 12:1770

Find the ratio between 6 m and 7 km

(i) 3:3498 (ii) 3:3502 (iii)) 2:3500 (iv) 3:3500

Find the ratio between 3 gm and 4 kg
(i) 3:3997 (ii) 2:4000 (iii) 3:4002 (iv) 3:4000

Find the ratio between 10 | and 9 ki

(i) 1:898 (ii) 0:900 (iii) 1:900 (iv) 1:903

Find the ratio between 7 hr and 4 days
(i) 6:96 (ii) 7:99 (iii)) 7:96 (iv) 7:94
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